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Bernoulli distribution : sJgi . &s595 .1
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parameters: ) < < 1,}) cR
support: ,-'c = {[:l‘ 1}
pmf: g:(l—p} for k=10
P for k=1
cdf: 0 fork <0
g for0<k <1
1 fork>1
mean: P
median: INIA
mode: 0 ifg>p
0,1 ifg=p
1 ifg<p
variance: 1)

PadS (s wlaw
p+q=1.d
EX)=p , Var(X)=pq .e

notation: Bln, p)
parameters: n = Ny — number of trials
o = [0,1] — success probability in each trial

support: kefl, . n}

pmf; (:) Pk(l _p)n* |

Binomial Distribution sl alo> 95 g4595 .2
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o F slasi g X plp S slass P(SS...SFF..F) .b

wowl N-X )._J|).;
E(x)=np , Var(x)=npq .c

Parameters () <p< 1 success probability (real)
Support kE{1,2,3,...}
Probability |(] — p)k—lp

mass function
(pmf)
Cumulative || — (1 _p)k
distribution
function (cdf)

Mean 1
P

Geometric distribution  sewid g9 .3
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notation: PDIS(/\) Poisson distribution  ,wles g1595 .4
parameters: A = 0 (real) cowl a )|.L6.o )JI)-? &390 L')-.’.l u-'-UL.’.)|9 9 uSJLw .a
support: k{0123 ..}
pmf: %
S E_'K
k!
Uawow S gsj9i

parameters: —oo<a<b<oo Uniform distribution «>lgiSs ga395 1
support: T & [EI-_, b]
pdf; 1

—— for z € [a, b] |

0 otherwise b-a | i k
cdf: 0 forx <a

=2 forx € [a,b]

1 forxz > b

. 1
mean: E(a. —+ b) " A
median: %(a + b) a b
0
mode: any value in [a.5] ] [
o 1 2 sF

variance: ﬁ(b — EI-) 08F
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Exponential distribution _sulos gs595 .2
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parameters:

support:
pdf:
cdf:

mean.

A=0rate orinverse scale
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Normal distribution Jlo, gi395 .3
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notation: N[:#_! gz)
parameters: = R— mean (location)
g° = 0 — variance (squared scale)
support: ¥x=R
pdf: 1 {z—p)?
v 2o € %
- —[1 —|—erf($—_‘u)]
2 v 202
mean: u
median: i
mode: L
variance: o




